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Position of Hungarian Merino among other Merinos, within-breed genetic similarity network and

markers associated with daily weight gain.
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SupplementaryTable 51 Pairwise values of F;; and their heat map
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Breeds
Appenninica oo oo aom
Arawapa ooss o us
AustralianindustryMerino Q03 o0 oom
AustralianMerino @0 o008 0067
AustralianPollMerino @08 003 0073
Bentheimer 0083 0099 0107
Castellana ol oo aos
ChineseMerino a0 ous 0oF
Churra [TV,
Comisana 004 0087 Qom
DrentheHeathen 0083 008 Qum
Finnsheep oo oie  om
GentilePuglia oo o1 om
GreyHomedHeathen Q14 01% 000
HungarianMerino 0033 03 008
Laticauda 004 008t 00m
Leccese @03 o00s: 0063
Massese @064 010 003
Merinizzata 0038 oo 007
Merinolandschaf 08 a4 o086
Ojalada s oos  ose
Rambouillet 0037 016 aoss
Rasaaragonesa sorr | oon oo
SardinianWhite @03 o1z o009
Schoonebeker 0w w3 omn 0w muws o0 a0 oas  oms owz  ows |osse | oso | owe oms  sws owr ows oo ows oo
ScottishBlackface 021  00sL  00SE 0083 A1 00 005 0OSI 0087 OMI 000 007 0% | 0.0ss | 0.0s2 0083 044 0085 0058 008 0402 0073
Sopravissana ooe: [oms oma ams | oo [ami| son ase oo@  oos  oom oo 0w | ese |amw [eme| oom [oms oo [oem! oo [Joas
SpanishMerinosCordoba oz 0w om  ow JEBEl 0w ews 0w osss a5l oms  oms [JEBEN| ose |0 om mem o s oo o oue
SpanishMer EstremaDura oS4 | DM DO2S OO oost O3  OO43  OOM  O0ss  0oes  0oed  0os2  0as | omas | ose  oms  oses 003 0083 003 0037 | om7
VeluweHeathen 0128 0089 0085 00 0O 0113 007 0097 0093 0104 Os11 013 | 0103 | oos:  ooes 0w ooces 0108 0083 0106 007
WhiteHornedHeathen Q0BL 0413 0072 ODET 0073 0407 0057 007 007 002 ocec | oce7 | oo74  o0oe3  D0s3 0074 0088 0063 008 0032 0083 0426 0404 0062 0087 0104
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